ASSEMBLY INSTRUKTION

Akita dining table

ROWICO

HOME



Nr/ Delar /Part list Antal/ Nr/ Monteringssats/Hardware list Antal
No Qty No /Qty
A Bordstopp/ Table top 1 1 Bult/JCBC bolt M6x60 8
B Vanster ben/Left leg 2 2 | Fjader bricka/Spring washer 1/4 8
C Hoger ben/Right leg 2 3 Bricka/ Flat washer M6 x 16 8
D Kort tvarsla/Short crossbar 2 4 Insexnyckel / Allen key 1
E Lang tvérsld/Long crossbar 1 5 Traskruv/Wood screw M4 x 38 6
Steg 1/Step 1
i
M
| |
| N
| -
I - _.'.-"-"-_-_'.'_I: —
-l [. g i ‘I -__.-:'-,-- - IT'
e ] e 0@ __ _
— , - ||_—Te %
| | 7 ; AN rd
| - o . © \ : o -.I"_|,
- i _—
— -.::—“"‘“ﬁ_ﬁ = Ty
o il 5 .
| ., B
L A
4 .T.H'{_'{:::*:-“:.-; Montera vanster ben (B) och hoger ben
S (C) med hjalp av tvérsla (D). Montera ben
o =

(B-C-D) pa bordstoppen(E) med bricka
(3), fjaderbricka (2) och bult (1). Spann
ca 80% med insex nyckel.

Assembly left leg (B) and right leg(C)
using crossbar (D). Attach leg (B-C-D) to
table top(E) using Flat washer (3), spring
washer (2) and Jcbc bolt (1). Tighten
aprox.80% with Allen key (4).

| ot

FiomfFim #0000

S 2 aw £




Steg 2 / Step 2

—_

¥ A

Repetera steg 1 och montera ben
(B-C-D).

Repeat step 1 to assemble the other
leg (B-C-D)

Steg 3/ Step 3

Montera den |1&nga
tvarsian (E). Spann
bultarna (1) 100%.
Skruva sedan fast
tvarsldna(D-E) med
traskruv (5).

Assemble the long
crossbar (E).
Tighten the bolts
(1) 100%. After
that tighten the
crossbars with
wooden screw(5).

Meir =i Fiar Pl 22000 L £ A &



